\$0.00 (0.00%)

\$0.00 (0.00%)

0 (0.00%)

(1.98%)

Top Landing Pages



Sep 1, 2017 - Sep 30, 2017

Explorer

Summary

15. /studentemploy/

16. /indexesdb/Indexes.asp?search=A&range=HN

Sessions										
2,000			\				\			
	Sep 8	S	ep 15			Sep 2	22		Sep 2	9
		Acquisition			Behavior			Conversions Goal 1: Mob	ile IDB Access	
Landing Page		Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mobile IDB Access (Goal 1 Value)
		31,183 % of Total: 100.00%	24.85% Avg for View:	7,748 % of Total:	39.73% Avg for View:	2.82 Avg for View:	00:04:51 Avg for View:	13.31% Avg for View:	4,150 % of Total: 100.00%	\$0.0 % o Tota

							Rate)		Value)
	31,183 % of Total: 100.00% (31,183)	24.85% Avg for View: 24.83% (0.05%)	7,748 % of Total: 100.05% (7,744)	39.73% Avg for View: 39.73% (0.00%)	2.82 Avg for View: 2.82 (0.00%)	00:04:51 Avg for View: 00:04:51 (0.00%)	13.31% Avg for View: 13.31% (0.00%)	4,150 % of Total: 100.00% (4,150)	\$0.00 % of Total: 0.00% (\$0.00)
1. /	22,299 (71.51%)	22.30%	4,972 (64.17%)	38.86%	3.08	00:05:35	10.05%	2,240 (53.98%)	\$0.00 (0.00%)
2. /indexesdb/_Indexes.asp	1,796 (5.76%)	17.87%	321 (4.14%)	25.22%	2.93	00:03:42	42.54%	764 (18.41%)	\$0.00 (0.00%)

_Indexes.asp	1,796 (5.76%)	17.87%	321 (4.14%)	25.22%	2.93	00:03:42	42.54%	764 (18.41%)	\$ (0
	724 (2.32%)	41.85%	303 (3.91%)	53.04%	1.45	00:01:22	0.41%	3 (0.07%)	\$ (0
	533	25.52%	136	15.57%	1.91	00:02:46	0.38%	2	\$

3. /hours/	724 (2.32%)	41.85%	303 (3.91%)	53.04%	1.45	00:01:22	0.41%	3 (0.07%)	\$0.00 (0.00%)
4. /reserves/	533 (1.71%)	25.52%	136 (1.76%)	15.57%	1.91	00:02:46	0.38%	2 (0.05%)	\$0.00 (0.00%)
5. /indexesdb/Indexes.asp?search=A⦥=DH	270 (0.87%)	5.93%	16 (0.21%)	68.89%	1.67	00:03:39	100.00%	270 (6.51%)	\$0.00 (0.00%)
6 /eigurnals/ eigurnals asp	262	17.56%	46	63 74%	2.12	00:03:57	3.82%	10	\$0.00

	(0.07 /0)		(0.2170)					(0.0170)	(0.0070)
6. /ejournals/_ejournals.asp	262 (0.84%)	17.56%	46 (0.59%)	63.74%	2.12	00:03:57	3.82%	10 (0.24%)	\$0.00 (0.00%)
7. /indexesdb/Indexes.asp?search=A⦥=AD	240 (0.77%)	7.08%	17 (0.22%)	76.67%	1.48	00:02:52	100.00%	240 (5.78%)	\$0.00 (0.00%)
	000		10					000	00.00

7. /indexesdb/Indexes.asp?search=A⦥=AD	240 (0.77%)	7.08%	17 (0.22%)	76.67%	1.48	00:02:52	100.00%	240 (5.78%)	\$0.00 (0.00%)
8. /indexesdb/Indexes.asp?search=A⦥=SZ	233 (0.75%)	7.73%	18 (0.23%)	72.96%	1.64	00:02:47	100.00%	233 (5.61%)	\$0.00 (0.00%)
9. /indexesdb/Indexes.asp?search=A⦥=NS	208 (0.67%)	7.69%	16 (0.21%)	65.87%	1.67	00:02:31	100.00%	208 (5.01%)	\$0.00 (0.00%)

8. /indexesdb/indexes.asp?search=A⦥=SZ	(0.75%)	7.73%	(0.23%)	/2.96%	1.64	00:02:47	100.00%	(5.61%)	(0.00%)
9. /indexesdb/Indexes.asp?search=A⦥=NS	208 (0.67%)	7.69%	16 (0.21%)	65.87%	1.67	00:02:31	100.00%	208 (5.01%)	\$0.00 (0.00%)
10. /cmj103	193 (0.62%)	32.64%	63 (0.81%)	67.88%	1.70	00:02:32	0.52%	1 (0.02%)	\$0.00 (0.00%)
11. /contacts/	104 (0.33%)	34.62%	36 (0.46%)	22.12%	2.62	00:03:52	0.96%	1 (0.02%)	\$0.00 (0.00%)

,,,	(0.62%)		(0.81%)					(0.02%)	(0.00%)
11. /contacts/	104 (0.33%)	34.62%	36 (0.46%)	22.12%	2.62	00:03:52	0.96%	1 (0.02%)	\$0.00 (0.00%)
12. /oakesroom/	97 (0.31%)	48.45%	47 (0.61%)	15.46%	1.21	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
13. /speccoll/	89 (0.29%)	49.44%	44 (0.57%)	14.61%	2.60	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
14. (not set)	88 (0.28%)	0.00%	0 (0.00%)	0.00%	0.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)

33.73%

17.07%

28 (0.36%)

(0.18%)

14.46%

71.95%

00:09:43

00:01:51

0.00%

100.00%

2.42

1.45

83 (0.27%)

(0.26%)

82

17.	/?fromMobile=true	68 (0.22%)	75.00%	51 (0.66%)	77.94%	1.60	00:01:13	0.00%	(0.00%)	\$0.00 (0.00%)
18.	/event/therapy-dog-visits-2/2017-09-13/	68 (0.22%)	58.82%	40 (0.52%)	11.76%	1.29	00:01:01	0.00%	(0.00%)	\$0.00 (0.00%)
19.	/circulation/equipment/	65 (0.21%)	32.31%	21 (0.27%)	35.38%	1.72	00:01:55	0.00%	(0.00%)	\$0.00 (0.00%)
20.	/libx-toolbar/	65 (0.21%)	38.46%	25 (0.32%)	21.54%	2.05	00:02:35	0.00%	(0.00%)	\$0.00 (0.00%)
21.	/contacts/subject-specialists/	59 (0.19%)	20.34%	12 (0.15%)	11.86%	3.49	00:04:18	3.39%	(0.05%)	\$0.00 (0.00%)
22.	/Interlibraryloan	58 (0.19%)	10.34%	6 (0.08%)	53.45%	2.21	00:01:47	0.00%	(0.00%)	\$0.00 (0.00%)
23.	/about/employment/	57 (0.18%)	47.37%	27 (0.35%)	15.79%	2.61	00:06:28	0.00%	(0.00%)	\$0.00 (0.00%)
24.	/books-and-ebooks/	57 (0.18%)	38.60%	22 (0.28%)	17.54%	1.53	00:01:31	0.00%	(0.00%)	\$0.00 (0.00%)
25.	/sms322/	57 (0.18%)	12.28%	7 (0.09%)	54.39%	2.25	00:06:58	0.00%	(0.00%)	\$0.00 (0.00%)
26.	/what-is-onesearch/	56 (0.18%)	32.14%	18 (0.23%)	12.50%	2.54	00:03:14	3.57%	(0.05%)	\$0.00 (0.00%)
27.	/circulation/	52 (0.17%)	42.31%	22 (0.28%)	15.38%	3.77	00:04:02	0.00%	(0.00%)	\$0.00 (0.00%)
28.	/building-maps/	47 (0.15%)	21.28%	10 (0.13%)	14.89%	2.21	00:04:05	0.00%	(0.00%)	\$0.00 (0.00%)
29.	/technical-services-toc/	47 (0.15%)	8.51%	4 (0.05%)	31.91%	2.79	00:03:12	0.00%	(0.00%)	\$0.00 (0.00%)
30.	/2017/09/06/fogler-library-student-book-club-fall-2017/	43 (0.14%)	51.16%	22 (0.28%)	23.26%	1.65	00:02:10	0.00%	(0.00%)	\$0.00 (0.00%)
31.	/lifehacklibrary/books	43 (0.14%)	97.67%	42 (0.54%)	93.02%	1.19	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
32.	/c.php?g=487203&p=3332129	40 (0.13%)	55.00%	22 (0.28%)	42.50%	2.98	00:04:09	0.00%	(0.00%)	\$0.00 (0.00%)
33.	/cmj380	37 (0.12%)	18.92%	7 (0.09%)	43.24%	3.00	00:06:31	2.70%	1 (0.02%)	\$0.00 (0.00%)
34.	/indexesdb/_Indexes.asp?search=A⦥=SZ	37 (0.12%)	8.11%	3 (0.04%)	67.57%	1.57	00:01:49	8.11%	3 (0.07%)	\$0.00 (0.00%)
35.	/building-directory/	36 (0.12%)	55.56%	20 (0.26%)	2.78%	2.08	00:02:53	0.00%	(0.00%)	\$0.00 (0.00%)
36.	/indexesdb/indexes.asp	36 (0.12%)	25.00%	9 (0.12%)	47.22%	2.94	00:01:56	100.00%	36 (0.87%)	\$0.00 (0.00%)
37.	/chf303	34 (0.11%)	8.82%	3 (0.04%)	67.65%	1.85	00:01:40	2.94%	1 (0.02%)	\$0.00 (0.00%)
38.	/c.php?g=487203&p=3332131	33 (0.11%)	36.36%	12 (0.15%)	66.67%	1.91	00:03:39	3.03%	1 (0.02%)	\$0.00 (0.00%)
39.	/c.php?g=688760&p=4867569	33 (0.11%)	9.09%	3 (0.04%)	57.58%	3.27	00:03:40	0.00%	(0.00%)	\$0.00 (0.00%)
40.	/mul200	33 (0.11%)	15.15%	5 (0.06%)	51.52%	2.36	00:05:01	0.00%	(0.00%)	\$0.00 (0.00%)
41.	/contacts/staffdept/	32 (0.10%)	43.75%	14 (0.18%)	15.62%	1.38	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)
42.	/BrowZine	31 (0.10%)	12.90%	4 (0.05%)	54.84%	1.87	00:02:32	0.00%	(0.00%)	\$0.00 (0.00%)
43.	/citation	31 (0.10%)	35.48%	11 (0.14%)	80.65%	1.94	00:01:44	0.00%	(0.00%)	\$0.00 (0.00%)
44.	/confposters	31 (0.10%)	74.19%	23 (0.30%)	90.32%	1.13	00:01:03	0.00%	(0.00%)	\$0.00 (0.00%)
45.	/how-do-i-2/	31 (0.10%)	29.03%	9 (0.12%)	9.68%	3.94	00:06:23	3.23%	1 (0.02%)	\$0.00 (0.00%)
46.	/swkpolicypaper	31 (0.10%)	9.68%	3 (0.04%)	64.52%	2.10	00:05:48	0.00%	(0.00%)	\$0.00 (0.00%)
47.	/bio525	29 (0.09%)	6.90%	(0.03%)	48.28%	3.34	00:10:31	6.90%	(0.05%)	\$0.00 (0.00%)
48.	/indexesdb/Indexes.asp	29 (0.09%)	51.72%	15 (0.19%)	41.38%	2.76	00:02:10	100.00%	29 (0.70%)	\$0.00 (0.00%)
49.	/refworks	29 (0.09%)	10.34%	3 (0.04%)	58.62%	2.72	00:05:05	3.45%	1 (0.02%)	\$0.00 (0.00%)
50.	/ambassadors/	28 (0.09%)	53.57%	15 (0.19%)	21.43%	1.21	00:01:27	0.00%	(0.00%)	\$0.00 (0.00%)
		26		10					2	\$0.00

51.	/scifinder_database_guide	(0.08%)	38.46%	(0.13%)	46.15%	2.81	00:04:31	7.69%	(0.05%)	(0.00%)
52.	/contacts/staffalph/	25 (0.08%)	56.00%	14 (0.18%)	8.00%	1.68	00:00:59	0.00%	(0.00%)	\$0.00 (0.00%)
53.	/c.php?g=150206&p=988037	24 (0.08%)	91.67%	22 (0.28%)	79.17%	1.29	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
54.	/event/therapy-dogs/	23 (0.07%)	52.17%	12 (0.15%)	13.04%	1.96	00:00:49	4.35%	1 (0.02%)	\$0.00 (0.00%)
55.	/events/	23 (0.07%)	60.87%	14 (0.18%)	17.39%	2.65	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
56.	/theses	23 (0.07%)	47.83%	11 (0.14%)	78.26%	1.61	00:00:53	4.35%	1 (0.02%)	\$0.00 (0.00%)
57.	/zika	23 (0.07%)	95.65%	22 (0.28%)	91.30%	1.13	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
58.	/socialwork	22 (0.07%)	4.55%	1 (0.01%)	50.00%	2.82	00:05:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
59.	/arts	21 (0.07%)	23.81%	5 (0.06%)	42.86%	2.71	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
60.	/cybersecurity	21 (0.07%)	85.71%	18 (0.23%)	90.48%	1.10	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
61.	/about/hours.htm	20 (0.06%)	75.00%	15 (0.19%)	0.00%	2.10	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
62.	/ant250	20 (0.06%)	0.00%	0 (0.00%)	70.00%	1.65	00:05:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
63.	/ask-a-librarian/	20 (0.06%)	60.00%	12 (0.15%)	50.00%	1.60	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
64.	/bua_235	20 (0.06%)	95.00%	19 (0.25%)	95.00%	1.05	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
65.	/citation_analysis/GS_WOS	19 (0.06%)	36.84%	7 (0.09%)	94.74%	1.05	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
66.	/staff/publisher_admin.htm	19 (0.06%)	0.00%	0 (0.00%)	63.16%	1.79	00:06:14	5.26%	1 (0.02%)	\$0.00 (0.00%)
67.	/c.php?g=127718&p=919053	18 (0.06%)	0.00%	0 (0.00%)	77.78%	2.56	00:08:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
68.	/c.php?g=92134	18 (0.06%)	77.78%	14 (0.18%)	72.22%	1.39	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
69.	/Educationguide/subtopics	18 (0.06%)	83.33%	15 (0.19%)	94.44%	1.22	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
70.	/friendly.php?s=scifinder_database_guide	18 (0.06%)	16.67%	3 (0.04%)	66.67%	1.56	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
71.	/indexesdb/_Indexes.asp?search=A⦥=AD	18 (0.06%)	72.22%	13 (0.17%)	88.89%	1.28	00:00:05	5.56%	1 (0.02%)	\$0.00 (0.00%)
72.	/wle461	18 (0.06%)	27.78%	5 (0.06%)	50.00%	2.17	00:08:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
73.	/about/	17 (0.05%)	58.82%	10 (0.13%)	17.65%	4.35	00:09:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
74.	/bua_343	17 (0.05%)	5.88%	1 (0.01%)	41.18%	2.47	00:09:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
75.	/c.php?g=154193&p=1029666	17 (0.05%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
76.	/cmj107	17 (0.05%)	11.76%	(0.03%)	29.41%	2.65	00:05:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
77.	/photocopiers/	17 (0.05%)	41.18%	7 (0.09%)	11.76%	2.41	00:06:13	0.00%	(0.00%)	\$0.00 (0.00%)
78.	/nas/wabanaki	16 (0.05%)	81.25%	13 (0.17%)	81.25%	1.50	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
79.	/c.php?g=98547&p=638077	15 (0.05%)	93.33%	14 (0.18%)	73.33%	1.40	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
80.	/domestic_violence	15 (0.05%)	100.00%	15 (0.19%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
81.	/indexesdb/_Indexes.asp?search=A⦥=NS	15 (0.05%)	6.67%	(0.01%)	73.33%	1.40	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
82.	/nur	15 (0.05%)	6.67%	1 (0.01%)	80.00%	1.33	00:00:05	6.67%	1 (0.02%)	\$0.00 (0.00%)
83.	/syriaisis	15 (0.05%)	100.00%	15 (0.19%)	86.67%	1.40	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
84.	/borrowing/	14 (0.04%)	42.86%	6 (0.08%)	7.14%	2.07	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
85.	/c.php?g=149681&p=1043072	14	57.14%	8	64.29%	1.43	00:02:20	0.00%	0	\$0.00

		(0.04%)		(0.10%)					(0.00%)	(0.00%)
86.	/forestresources	14 (0.04%)	0.00%	(0.00%)	35.71%	2.00	00:03:36	0.00%	(0.00%)	\$0.00 (0.00%)
87.	/lifehacklibrary/onesearch	14 (0.04%)	57.14%	8 (0.10%)	28.57%	4.64	00:06:17	0.00%	(0.00%)	\$0.00 (0.00%)
88.	/speccoll/allnewspapers.htm	14 (0.04%)	100.00%	14 (0.18%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
89.	/404.html?page=/sec/guides/gisjournals.htm&from=	13 (0.04%)	100.00%	13 (0.17%)	0.00%	1.15	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)
90.	/animalvetsci/databases	13 (0.04%)	15.38%	2 (0.03%)	92.31%	1.08	00:00:17	0.00%	(0.00%)	\$0.00 (0.00%)
91.	/event/grants-101-seeking-analyzing-writing-basics/2017-10-10/	13 (0.04%)	23.08%	3 (0.04%)	15.38%	1.38	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
92.	/friendly.php?s=Interlibraryloan	13 (0.04%)	23.08%	3 (0.04%)	92.31%	1.15	00:00:16	0.00%	(0.00%)	\$0.00 (0.00%)
93.	/group-study-rooms/	13 (0.04%)	38.46%	5 (0.06%)	0.00%	2.00	00:00:56	0.00%	(0.00%)	\$0.00 (0.00%)
94.	/psychology/databases	13 (0.04%)	0.00%	0 (0.00%)	84.62%	1.38	00:01:56	0.00%	(0.00%)	\$0.00 (0.00%)
95.	/speccoll/special-collections-subject-guide1/	13 (0.04%)	92.31%	12 (0.15%)	23.08%	1.15	00:00:26	0.00%	(0.00%)	\$0.00 (0.00%)
96.	/404.html?page=/townreport/&from=http://www.maine.go v/msl/services/genealogy/index.shtml	12 (0.04%)	100.00%	12 (0.15%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
97.	/biologyecology/databases	12 (0.04%)	16.67%	(0.03%)	58.33%	1.67	00:03:42	0.00%	(0.00%)	\$0.00 (0.00%)
98.	/BUA605	12 (0.04%)	8.33%	1 (0.01%)	58.33%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
99.	/eco180	12 (0.04%)	25.00%	3 (0.04%)	25.00%	2.42	00:05:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
100.	/muh201	12 (0.04%)	16.67%	(0.03%)	75.00%	1.33	00:01:53	0.00%	(0.00%)	\$0.00 (0.00%)
101.	/reserves/submitting-reserves/	12 (0.04%)	0.00%	0 (0.00%)	0.00%	4.67	00:13:06	0.00%	(0.00%)	\$0.00 (0.00%)
102.	/speccoll/special-collections-holdings/	12 (0.04%)	50.00%	6 (0.08%)	8.33%	1.75	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
103.	/speccoll/theses_instructions/	12 (0.04%)	16.67%	(0.03%)	8.33%	1.75	00:04:23	0.00%	(0.00%)	\$0.00 (0.00%)
104.	/404.html?page=/general/citations.htm&from=	11 (0.04%)	54.55%	6 (0.08%)	0.00%	1.36	00:00:51	0.00%	(0.00%)	\$0.00 (0.00%)
105.	/c.php?g=46452&p=294754	11 (0.04%)	90.91%	10 (0.13%)	54.55%	3.45	00:01:33	9.09%	1 (0.02%)	\$0.00 (0.00%)
106.	/c.php?g=569182&p=3921866	11 (0.04%)	100.00%	11 (0.14%)	90.91%	1.09	<00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
107.	/circulation/id-cards/	11 (0.04%)	45.45%	5 (0.06%)	18.18%	2.18	00:03:57	0.00%	(0.00%)	\$0.00 (0.00%)
108.	/collection-services/suggest-new-purchase/	11 (0.04%)	18.18%	(0.03%)	36.36%	1.64	00:04:00	0.00%	(0.00%)	\$0.00 (0.00%)
109.	/grad-tips	11 (0.04%)	36.36%	4 (0.05%)	36.36%	3.91	00:04:49	0.00%	(0.00%)	\$0.00 (0.00%)
110.	/staffinfo/	11 (0.04%)	18.18%	(0.03%)	9.09%	4.36	00:07:22	0.00%	(0.00%)	\$0.00 (0.00%)
111.	/c.php?g=129867&p=2335738	10 (0.03%)	100.00%	10 (0.13%)	80.00%	1.30	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
112.	/circulation/media-lab/	10 (0.03%)	30.00%	3 (0.04%)	10.00%	3.50	00:01:13	0.00%	(0.00%)	\$0.00 (0.00%)
113.	/facultyservices	10 (0.03%)	30.00%	3 (0.04%)	30.00%	3.10	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
114.	/hed620	10 (0.03%)	0.00%	0 (0.00%)	70.00%	2.00	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
115.	/lifehacklibrary	10 (0.03%)	10.00%	1 (0.01%)	80.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
116.	/2015/11/11/patents-and-trademarks/	9 (0.03%)	77.78%	7 (0.09%)	33.33%	2.11	00:02:26	0.00%	(0.00%)	\$0.00 (0.00%)
117.	/business-databases	9 (0.03%)	22.22%	(0.03%)	44.44%	5.00	00:09:52	11.11%	1 (0.02%)	\$0.00 (0.00%)
118.	/cohen/	9 (0.03%)	77.78%	7 (0.09%)	66.67%	3.67	00:00:43	0.00%	(0.00%)	\$0.00 (0.00%)
119.	/cohen/bio/bio2.htm	9 (0.03%)	88.89%	8 (0.10%)	77.78%	2.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

120	/forester/	9	77.78%	7	55.56%	2.11	00:07:54	0.00%	0	\$0.00
		(0.03%)		(0.09%)					(0.00%)	\$0.00
	/healthpromotion	(0.03%)	33.33%	(0.04%)	66.67%	2.56	00:10:33	0.00%	(0.00%)	(0.00%)
122.	/prf.php?account_id=14244	(0.03%)	44.44%	(0.05%)	77.78%	1.67	00:00:14	0.00%	(0.00%)	(0.00%)
123.	/stephenking	(0.03%)	100.00%	(0.12%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
124.	/wgs101	(0.03%)	11.11%	(0.01%)	44.44%	2.89	00:04:27	0.00%	(0.00%)	\$0.00 (0.00%)
125.	/business-databases/bizminer	(0.03%)	62.50%	(0.06%)	87.50%	1.25	00:04:05	0.00%	(0.00%)	\$0.00 (0.00%)
126.	/business-databases/business-insights-essentials	8 (0.03%)	87.50%	7 (0.09%)	62.50%	1.62	00:01:56	0.00%	(0.00%)	\$0.00 (0.00%)
127.	/chf423-caron	8 (0.03%)	0.00%	0 (0.00%)	62.50%	3.00	00:05:52	0.00%	(0.00%)	\$0.00 (0.00%)
128.	/circulation/id-card-community-member/	8 (0.03%)	37.50%	3 (0.04%)	0.00%	2.12	00:01:53	0.00%	(0.00%)	\$0.00 (0.00%)
129.	/foodscinutr	8 (0.03%)	0.00%	0 (0.00%)	50.00%	4.75	00:09:59	0.00%	(0.00%)	\$0.00 (0.00%)
130.	/fsn301	8 (0.03%)	0.00%	0 (0.00%)	25.00%	5.12	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
131.	/funding	8 (0.03%)	50.00%	4 (0.05%)	25.00%	3.12	00:02:58	0.00%	(0.00%)	\$0.00 (0.00%)
132.	/patents/historical	8 (0.03%)	100.00%	8 (0.10%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
133.	/patents/patentsearch	8 (0.03%)	62.50%	5 (0.06%)	87.50%	1.12	00:01:44	0.00%	(0.00%)	\$0.00 (0.00%)
134.	/wildlifefisheries/databases	8 (0.03%)	25.00%	2 (0.03%)	50.00%	2.75	00:03:33	0.00%	(0.00%)	\$0.00 (0.00%)
135.	/404.html?page=/cfru/search.asp&from=http://libguides.li brary.umaine.edu/forestresources	7 (0.02%)	0.00%	0 (0.00%)	0.00%	8.29	00:16:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
136.	/bua202-library-resources	7 (0.02%)	28.57%	2 (0.03%)	57.14%	4.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
137.	/c.php?g=123011&p=3843093	7 (0.02%)	14.29%	1 (0.01%)	28.57%	1.71	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
138.	/c.php?g=129867&p=2335545	7 (0.02%)	71.43%	5 (0.06%)	85.71%	1.86	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
139.	/collection-services/collection-development-policy/	7 (0.02%)	28.57%	2 (0.03%)	0.00%	1.14	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
140.	/ERL590b	7 (0.02%)	0.00%	0 (0.00%)	71.43%	1.57	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
141.	/hist	7 (0.02%)	0.00%	0 (0.00%)	42.86%	1.71	00:06:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
142.	/indexesdb/_Indexes.asp?search=A⦥=DH	7 (0.02%)	0.00%	0 (0.00%)	85.71%	3.71	00:05:39	14.29%	1 (0.02%)	\$0.00 (0.00%)
143.	/keep-in-mind/	7 (0.02%)	28.57%	2 (0.03%)	14.29%	1.43	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
144.	/librarynews/	7 (0.02%)	28.57%	2 (0.03%)	0.00%	5.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
145.	/patents	7 (0.02%)	42.86%	3 (0.04%)	57.14%	1.43	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
146.	/prf.php?account_id=127666	7 (0.02%)	57.14%	4 (0.05%)	57.14%	1.71	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
147.	/prf.php?account_id=44432	7 (0.02%)	42.86%	3 (0.04%)	57.14%	2.14	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
148.	/psychologyissues	7 (0.02%)	85.71%	6 (0.08%)	57.14%	4.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
149.	/technical-services-toc/cataloging-ebooks/	7 (0.02%)	28.57%	2 (0.03%)	14.29%	3.43	00:07:25	14.29%	1 (0.02%)	\$0.00 (0.00%)
150.	/venue/fogler-library-classroom/	7 (0.02%)	71.43%	5 (0.06%)	14.29%	1.43	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
151.	/404.html?page=/staff/bonnet.htm&from=http://libguide s.library.umaine.edu/cmj103	6 (0.02%)	0.00%	0 (0.00%)	0.00%	2.33	00:05:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
152.	/articles-2/	6 (0.02%)	0.00%	0 (0.00%)	50.00%	1.67	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
153.	/biomed	6 (0.02%)	16.67%	1 (0.01%)	66.67%	1.50	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%)

154.	/c.php?g=376745&p=2549514	6 (0.02%)	100.00%	6 (0.08%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
155.	/chy298/scifinder-search-tips	6 (0.02%)	16.67%	1 (0.01%)	16.67%	2.50	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
156.	/cinahldatabaseguide	6 (0.02%)	66.67%	4 (0.05%)	50.00%	3.17	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
157.	/collection-services/collection-development-policy/digital-commons-collection-policy/	6 (0.02%)	50.00%	3 (0.04%)	16.67%	2.50	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
158.	/csd100	6 (0.02%)	16.67%	1 (0.01%)	33.33%	4.83	00:13:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
159.	/eng/poetry	6 (0.02%)	50.00%	3 (0.04%)	50.00%	1.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
160.	/etech/met	6 (0.02%)	0.00%	0 (0.00%)	50.00%	2.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
161.	/fsn101	6 (0.02%)	83.33%	5 (0.06%)	83.33%	1.33	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
162.	/GovernmentDocuments	6 (0.02%)	50.00%	3 (0.04%)	33.33%	2.50	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
163.	/grad-tips/lit	6 (0.02%)	33.33%	2 (0.03%)	83.33%	1.33	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
164.	/hud556	6 (0.02%)	66.67%	4 (0.05%)	66.67%	1.50	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
165.	/infolit	6 (0.02%)	16.67%	1 (0.01%)	83.33%	2.17	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
166.	/prf.php?account_id=10136	6 (0.02%)	50.00%	3 (0.04%)	66.67%	2.67	00:01:47	16.67%	1 (0.02%)	\$0.00 (0.00%)
167.	/psy491-ell	6 (0.02%)	0.00%	0 (0.00%)	33.33%	2.50	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
168.	/self_driving_car	6 (0.02%)	83.33%	5 (0.06%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
169.	/swk491	6 (0.02%)	0.00%	0 (0.00%)	66.67%	1.83	00:01:44	0.00%	(0.00%)	\$0.00 (0.00%)
170.	/technical-services-toc/digitization-digital-commons/scan ning-photographs/	6 (0.02%)	83.33%	5 (0.06%)	0.00%	3.17	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
171.	/wildlifefisheries	6 (0.02%)	0.00%	0 (0.00%)	33.33%	1.67	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
172.	/404.html?page=/cfru/pubs/CFRU300.pdf&from=https://www.google.com/	5 (0.02%)	100.00%	5 (0.06%)	0.00%	1.60	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
173.	/404.html?page=/onesearch.htm&from=	5 (0.02%)	20.00%	1 (0.01%)	0.00%	3.40	00:05:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
174.	/404.html?page=/science/compsci.htm&from=http://www.marcandangel.com/2010/11/15/12-dozen-places-to-self-educate-yourself-online/	5 (0.02%)	100.00%	5 (0.06%)	0.00%	1.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
175.	/c.php?g=723357&p=5160656	5 (0.02%)	20.00%	1 (0.01%)	60.00%	4.60	00:13:50	0.00%	(0.00%)	\$0.00 (0.00%)
176.	/chemeng/bioeng	5 (0.02%)	40.00%	2 (0.03%)	20.00%	2.20	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
177.	/chy298	5 (0.02%)	0.00%	0 (0.00%)	20.00%	2.40	00:05:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
178.	/circulation/equipment/equipment-loan-policy/	5 (0.02%)	100.00%	5 (0.06%)	20.00%	1.40	00:00:36	0.00%	(0.00%)	\$0.00 (0.00%)
179.	/comscidis	5 (0.02%)	0.00%	0 (0.00%)	40.00%	2.40	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
180.	/event/book-club-fantasy-fiction/	5 (0.02%)	20.00%	1 (0.01%)	40.00%	1.20	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
181.	/event/therapy-dog-visits/2017-05-03/	5 (0.02%)	40.00%	2 (0.03%)	20.00%	2.80	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
182.	/film	5 (0.02%)	80.00%	4 (0.05%)	40.00%	1.60	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
183.	/grants	5 (0.02%)	20.00%	1 (0.01%)	20.00%	3.60	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
184.	/hist/general	5 (0.02%)	0.00%	0 (0.00%)	60.00%	2.20	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
185.	/lifehacklibrary/home	5 (0.02%)	60.00%	3 (0.04%)	60.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
186.	/mbstl_financing	5 (0.02%)	60.00%	3 (0.04%)	80.00%	1.20	00:01:05	0.00%	(0.00%)	\$0.00 (0.00%)

187.	/mecheng	5 (0.02%)	0.00%	0 (0.00%)	80.00%	1.20	00:01:57	0.00%	(0.00%)	\$0.00 (0.00%)
188.	/prf.php?account_id=14721	5 (0.02%)	20.00%	1 (0.01%)	60.00%	2.20	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
189.	/prf.php?account_id=14723	5 (0.02%)	20.00%	1 (0.01%)	60.00%	1.80	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
190.	/sms322	5 (0.02%)	20.00%	1 (0.01%)	80.00%	2.60	00:04:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
191.	/socialcontext	5 (0.02%)	20.00%	1 (0.01%)	80.00%	1.40	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
192.	/staffinfo/pages/tech_support2.htm	5 (0.02%)	0.00%	0 (0.00%)	0.00%	4.60	00:11:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
193.	/technical-services-toc/copy-cataloging/	5 (0.02%)	20.00%	1 (0.01%)	0.00%	2.40	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
194.	/2015/11/13/nursing-reference-center/	4 (0.01%)	0.00%	0 (0.00%)	0.00%	3.75	00:00:39	25.00%	1 (0.02%)	\$0.00 (0.00%)
195.	/404.html?page=/reserves/location.htm&from=	4 (0.01%)	50.00%	2 (0.03%)	0.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
196.	/404.html?page=/townreport/&from=	4 (0.01%)	75.00%	3 (0.04%)	0.00%	1.25	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
197.	/404.html?page=/townreport/&from=http://www.winthropmaine.org/index.asp?SEC=9AB77101-C068-4EB9-92B3-DA044C9D8968&Type=B_LIST	4 (0.01%)	100.00%	4 (0.05%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
198.	/404.html?page=/yearbooks/&from=http://www.thisoldyearbook.com/Maine_Yearbooks.php	4 (0.01%)	100.00%	4 (0.05%)	0.00%	1.50	00:00:18	0.00%	(0.00%)	\$0.00 (0.00%)
199.	/accessibility	4 (0.01%)	25.00%	1 (0.01%)	50.00%	1.75	00:01:29	0.00%	(0.00%)	\$0.00 (0.00%)
200.	/ant/physical	4 (0.01%)	100.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
201.	/architect	4 (0.01%)	100.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
202.	/bio100lab	4 (0.01%)	75.00%	3 (0.04%)	75.00%	1.25	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
203.	/bookclub	4 (0.01%)	50.00%	2 (0.03%)	25.00%	2.50	00:00:33	0.00%	(0.00%)	\$0.00 (0.00%)
204.	/c.php?g=228682	4 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:01:53	0.00%	(0.00%)	\$0.00 (0.00%)
205.	/canada	4 (0.01%)	50.00%	2 (0.03%)	25.00%	3.25	00:03:20	0.00%	(0.00%)	\$0.00 (0.00%)
206.	/chem	4 (0.01%)	0.00%	0 (0.00%)	0.00%	5.50	00:06:34	0.00%	(0.00%)	\$0.00 (0.00%)
207.	/chy298/database-search-tips	4 (0.01%)	0.00%	0 (0.00%)	0.00%	5.50	00:00:25	0.00%	(0.00%)	\$0.00 (0.00%)
208.	/chy298/scientific-communication	4 (0.01%)	0.00%	0 (0.00%)	75.00%	1.75	00:02:55	0.00%	(0.00%)	\$0.00 (0.00%)
209.	/cohen/bangor5.htm	4 (0.01%)	100.00%	4 (0.05%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
210.	/collection-services/recent-acquisitions/	4 (0.01%)	0.00%	0 (0.00%)	25.00%	5.25	00:04:18	0.00%	(0.00%)	\$0.00 (0.00%)
211.	/Educationguide/curriculum	4 (0.01%)	50.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
212.	/EES489	4 (0.01%)	25.00%	1 (0.01%)	75.00%	2.50	00:04:27	0.00%	(0.00%)	\$0.00 (0.00%)
213.	/eng/britlit	4 (0.01%)	0.00%	0 (0.00%)	75.00%	1.50	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
214.	/eng/lit	4 (0.01%)	0.00%	0 (0.00%)	25.00%	5.00	00:01:57	0.00%	(0.00%)	\$0.00 (0.00%)
215.	/erl320	4 (0.01%)	25.00%	1 (0.01%)	25.00%	4.50	00:09:00	0.00%	(0.00%)	\$0.00 (0.00%)
216.	/foodscinutr/home	4 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:03	0.00%	(0.00%)	\$0.00 (0.00%)
217.	/hdcc2017	4 (0.01%)	50.00%	(0.03%)	75.00%	1.25	00:04:20	0.00%	(0.00%)	\$0.00 (0.00%)
218.	/hist/american	4 (0.01%)	0.00%	0 (0.00%)	75.00%	1.25	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
219.	/hist/home	4 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
220.	/mbstl	4 (0.01%)	0.00%	0 (0.00%)	50.00%	2.75	00:05:48	0.00%	0 (0.00%)	\$0.00 (0.00%)

221.	/mbstl_business	4 (0.01%)	75.00%	3 (0.04%)	50.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
222.	/my_ncbi	4 (0.01%)	75.00%	3 (0.04%)	75.00%	1.25	00:04:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
223.	/onesearch.htm	4 (0.01%)	100.00%	4 (0.05%)	75.00%	1.25	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
224.	/prf.php?account_id=15529	4 (0.01%)	75.00%	3 (0.04%)	75.00%	3.25	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
225.	/refworks/home	4 (0.01%)	50.00%	2 (0.03%)	25.00%	2.25	00:06:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
226.	/reserve-reading-room/	4 (0.01%)	25.00%	1 (0.01%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
227.	/search/?q=e-reserves	4 (0.01%)	0.00%	0 (0.00%)	25.00%	1.50	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
228.	/services-2/	4 (0.01%)	0.00%	0 (0.00%)	0.00%	3.75	00:06:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
229.	/staff/rollins.htm	4 (0.01%)	75.00%	3 (0.04%)	75.00%	1.25	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
230.	/2017/03/27/upcoming-workshop-introduction-matlab-dat a-analysis/	3 (0.01%)	66.67%	(0.03%)	33.33%	1.33	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
231.	/2017/07/11/boosting-maines-economy-information/	3 (0.01%)	100.00%	3 (0.04%)	33.33%	3.33	00:05:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
232.	/404.html?page=/census/&from=http://www.rootsweb.an cestry.com/~megenweb/census/	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
233.	/404.html?page=/general/web_of_science.htm&from=	3 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
234.	/404.html?page=/reference/Lewis/wsslinks/wommus.ht m&from=	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.67	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
235.	/404.html?page=/social/womengd.htm&from=	3 (0.01%)	66.67%	2 (0.03%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
236.	/404.html?page=/townreport/&from=http://www.maine.go v/msl/services/genealogy/	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.33	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
237.	/404.html?page=/yearbooks/content/1924/1924_181to21 0.pdf&from=https://en.wikipedia.org/	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
238.	/aging	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.67	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
239.	/alumservices	3 (0.01%)	66.67%	2 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
240.	/arts/images	3 (0.01%)	100.00%	3 (0.04%)	66.67%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
241.	/bua220	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
242.	/business-databases/business-source-complete	3 (0.01%)	66.67%	2 (0.03%)	66.67%	2.00	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
243.	/c.php?g=121394&p=3889235	3 (0.01%)	33.33%	1 (0.01%)	33.33%	6.67	00:12:11	0.00%	(0.00%)	\$0.00 (0.00%)
244.	/c.php?g=126175&p=3867423	3 (0.01%)	66.67%	2 (0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
245.	/c.php?g=540450&p=3701298	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.33	00:00:08	0.00%	(0.00%)	\$0.00 (0.00%)
246.	/c.php?g=718650	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
247.	/canstudies/theses.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
248.	/cmj/articles	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:01:26	0.00%	(0.00%)	\$0.00 (0.00%)
249.	/cohen/Collection_Description/106_03_03_05_01.htm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.00	00:03:20	0.00%	(0.00%)	\$0.00 (0.00%)
250.	/collection-services/collection-development-policy/referen ce-collection-policy/	3 (0.01%)	66.67%	(0.03%)	0.00%	6.33	00:07:23	0.00%	(0.00%)	\$0.00 (0.00%)
251.	/copyright/fairuse	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:03:03	0.00%	(0.00%)	\$0.00 (0.00%)
252.	/datamanagement	3 (0.01%)	100.00%	3 (0.04%)	66.67%	3.00	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
253.	/DCself_archive	3 (0.01%)	0.00%	0 (0.00%)	33.33%	5.67	00:04:28	0.00%	(0.00%)	\$0.00 (0.00%)
254.	/dmc	3	33.33%	1	100.00%	1.00	00:00:00	0.00%	0	\$0.00

		(0.01%)		(0.01%)					(0.00%)	(0.00%)
255.	/DMC/	3 (0.01%)	0.00%	(0.00%)	0.00%	5.33	00:03:28	0.00%	(0.00%)	\$0.00 (0.00%)
256.	/etech	3 (0.01%)	0.00%	(0.00%)	0.00%	4.67	00:10:34	0.00%	(0.00%)	\$0.00 (0.00%)
257.	/event/open-access-publishing/	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.00	00:00:26	0.00%	(0.00%)	\$0.00 (0.00%)
258.	/event/therapy-dog-visits-2/2017-09-12/	3 (0.01%)	33.33%	(0.01%)	0.00%	1.00	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
259.	/fakenews/identification	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
260.	/friendly.php?s=facultyservices	3 (0.01%)	100.00%	3 (0.04%)	33.33%	2.00	00:08:39	0.00%	(0.00%)	\$0.00 (0.00%)
261.	/geoscan/previous.htm	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
262.	/hed630	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.67	00:00:14	0.00%	(0.00%)	\$0.00 (0.00%)
263.	/journalism	3 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:41	0.00%	(0.00%)	\$0.00 (0.00%)
264.	/libx-toolbar/?globalNavigation=false	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
265.	/market_research	3 (0.01%)	66.67%	(0.03%)	66.67%	1.33	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
266.	/mathstats	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
267.	/nas	3 (0.01%)	33.33%	1 (0.01%)	66.67%	11.33	00:35:14	0.00%	(0.00%)	\$0.00 (0.00%)
268.	/nfa117ers	3 (0.01%)	0.00%	0 (0.00%)	0.00%	3.67	00:02:36	0.00%	(0.00%)	\$0.00 (0.00%)
269.	/prf.php	3 (0.01%)	66.67%	(0.03%)	0.00%	2.00	00:00:30	0.00%	(0.00%)	\$0.00 (0.00%)
270.	/prf.php?account_id=29532	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:00:31	0.00%	(0.00%)	\$0.00 (0.00%)
271.	/psychology/subtopics	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
272.	/speccoll/Guides/francoamerican.htm	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.33	00:01:21	0.00%	(0.00%)	\$0.00 (0.00%)
273.	/speccoll/special-collections-subject-guide-genealogy/	3 (0.01%)	66.67%	(0.03%)	0.00%	2.33	00:01:01	0.00%	(0.00%)	\$0.00 (0.00%)
274.	/speccoll/special-collections-subject-guide-lumbering-indu stry/	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:02:01	0.00%	(0.00%)	\$0.00 (0.00%)
275.	/technical-services-toc/digitization-digital-commons/findin gaid2/	3 (0.01%)	100.00%	3 (0.04%)	0.00%	1.00	00:00:28	0.00%	(0.00%)	\$0.00 (0.00%)
276.	/technical-services-toc/science-engineering/	3 (0.01%)	0.00%	0 (0.00%)	0.00%	1.67	00:07:59	0.00%	(0.00%)	\$0.00 (0.00%)
277.	/UMaineArchives	3 (0.01%)	33.33%	(0.01%)	0.00%	2.33	00:00:45	0.00%	(0.00%)	\$0.00 (0.00%)
278.	/wiki	3 (0.01%)	100.00%	3 (0.04%)	66.67%	1.67	00:09:25	0.00%	(0.00%)	\$0.00 (0.00%)
279.	/yearbooks/	3 (0.01%)	100.00%	3 (0.04%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
280.	/2015/11/11/libx-fogler-library-toolbar/	2 (0.01%)	50.00%	(0.01%)	0.00%	3.50	00:01:32	0.00%	(0.00%)	\$0.00 (0.00%)
281.	/2016/08/09/popular-reading-e-books-audiobooks/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	13.50	00:09:44	0.00%	(0.00%)	\$0.00 (0.00%)
282.	/2016/10/20/book-life-reading-transforms/	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
283.	/404.html?page=/about/Default.htm&from=http://www.in gentaconnect.com.prxy4.ursus.maine.edu/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
284.	/404.html?page=/about/info_commons.htm&from=	2 (0.01%)	50.00%	(0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
285.	/404.html?page=/cfru/pubs/CFRU192.pdf&from=https://www.google.com/	2 (0.01%)	100.00%	2 (0.03%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
286.	/404.html?page=/localhistory/Biographical_Review_York.p df&from=	2 (0.01%)	100.00%	2 (0.03%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
287.	/404.html?page=/localhistory/Town_Register_Lincolnvill e.pdf&from=	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.50	00:14:34	0.00%	(0.00%)	\$0.00 (0.00%)

288.	/404.html?page=/reference/Lewis/wsslinks/wommus.ht m&from=http://www.libr.org/wgss/wgsslinks/index.html	2 (0.01%)	100.00%	(0.03%)	0.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
289.	/404.html?page=/reserves/default.htm&from=http://aresum.foglerlibrary.org/ares/help.html	2 (0.01%)	0.00%	0 (0.00%)	0.00%	5.50	00:02:16	0.00%	(0.00%)	\$0.00 (0.00%)
290.	/404.html?page=/resources.htm&from=	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.50	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
291.	/404.html?page=/search.htm&from=	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
292.	/404.html?page=/speccoll/FindingAids/GreatNorthernPaper.htm&from=	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
293.	/404.html?page=/speccoll/FindingAids/Hamlinfamilyinven tory.htm&from=https://en.wikipedia.org/	2 (0.01%)	100.00%	(0.03%)	0.00%	1.50	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
294.	/404.html?page=/speccoll/FindingAids/Kingstep.htm&fro m=	2 (0.01%)	100.00%	(0.03%)	0.00%	1.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
295.	/404.html?page=/speccoll/fisheries/&from=http://eduscapes.com/digital/1d.htm	2 (0.01%)	100.00%	2 (0.03%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
296.	/404.html?page=/staffinfo/ppc/travel.htm&from=http://ne wlibrary.library.umaine.edu/staffinfo/ppc/default.htm	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
297.	/404.html?page=/staffinfo&from=	2 (0.01%)	50.00%	1 (0.01%)	0.00%	6.00	00:36:49	0.00%	(0.00%)	\$0.00 (0.00%)
298.	/404.html?page=/theseshttp:/www.library.duq.edu/etd&from=	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
299.	/404.html?page=/wabanaki/Letters_of_Colonel.pdf&from=	2 (0.01%)	100.00%	2 (0.03%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
300.	/404.html?page=/yearbooks/&from=	2 (0.01%)	100.00%	2 (0.03%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
301.	/404.html?page=/yearbooks/content/1933/1933_31to60.pdf&from=http://www.earlymaine.org/em_php/yearbookIndex/searchIndex.php	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.50	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
302.	/404.html?page=/yearbooks/Eighties.htm&from=	2 (0.01%)	100.00%	2 (0.03%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
303.	/about/employment.htm	2 (0.01%)	100.00%	2 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
304.	/about/meeting-event-spaces/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
305.	/animalvetsci	2 (0.01%)	100.00%	2 (0.03%)	0.00%	3.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
306.	/art-grants	2 (0.01%)	100.00%	2 (0.03%)	50.00%	2.50	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
307.	/arts/articles	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
308.	/bio525/evaluation-form	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
309.	/c.php?g=103782&p=743445	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
310.	/c.php?g=109518&p=709585	2 (0.01%)	100.00%	2 (0.03%)	50.00%	1.50	00:00:19	0.00%	(0.00%)	\$0.00 (0.00%)
311.	/c.php?g=119330&p=4214310	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
312.	/c.php?g=124750&p=3101915	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
313.	/c.php?g=129867&p=859878	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.50	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
314.	/c.php?g=487203&p=3332568	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
315.	/c.php?g=723357&p=5160656&preview=104152e5ec6981 48abe59600ff4e22e8	2 (0.01%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
316.	/c.php?g=85903&p=552302	2 (0.01%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
317.	/c.php?g=97115	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
318.	/canadian-studies/canadian-census-materials/	2 (0.01%)	100.00%	(0.03%)	50.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
319.	/chy298/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	3.00	00:16:58	0.00%	(0.00%)	\$0.00 (0.00%)
320.	/cinahldatabaseguide/combining	2 (0.01%)	100.00%	(0.03%)	0.00%	2.00	00:00:21	0.00%	(0.00%)	\$0.00 (0.00%)

321.	/civileng	2 (0.01%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
322.	/civileng/materials	2 (0.01%)	50.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
323.	/climatechange/politics	2 (0.01%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
324.	/climateweather	2 (0.01%)	50.00%	(0.01%)	0.00%	3.00	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)
325.	/cmj-journalism/stats	2 (0.01%)	50.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
326.	/cmj/cmj103	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:30	0.00%	(0.00%)	\$0.00 (0.00%)
327.	/cmj/stats	2 (0.01%)	100.00%	(0.03%)	50.00%	1.50	00:00:10	0.00%	(0.00%)	\$0.00 (0.00%)
328.	/cohen/Collection_Description/106_03_01_06.htm	2 (0.01%)	100.00%	(0.03%)	50.00%	4.50	00:01:49	0.00%	(0.00%)	\$0.00 (0.00%)
329.	/cohen/links.htm	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
330.	/collection-services/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
331.	/collection-services/collection-development-policy/genera l-collection-guidelines/	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.00	00:02:50	0.00%	(0.00%)	\$0.00 (0.00%)
332.	/datamanagement/resources	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
333.	/default_ursus.asp	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
334.	/Educationguide/childlit	2 (0.01%)	50.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
335.	/ehd510	2 (0.01%)	50.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
336.	/ejournals/fulltext.htm	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
337.	/eleceng	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:00:17	0.00%	(0.00%)	\$0.00 (0.00%)
338.	/environmentalscience/databases	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
339.	/erl319	2 (0.01%)	50.00%	(0.01%)	50.00%	2.50	00:02:41	0.00%	(0.00%)	\$0.00 (0.00%)
340.	/event/book-club-biography/	2 (0.01%)	100.00%	(0.03%)	0.00%	1.50	00:00:53	0.00%	(0.00%)	\$0.00 (0.00%)
341.	/event/book-club-classic-literature/	2 (0.01%)	50.00%	(0.01%)	0.00%	1.00	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
342.	/event/library-book-club-biography-autobiography/	2 (0.01%)	100.00%	2 (0.03%)	50.00%	1.00	00:00:09	0.00%	(0.00%)	\$0.00 (0.00%)
343.	/event/make-music-computer-workshop/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:15	50.00%	1 (0.02%)	\$0.00 (0.00%)
344.	/fogler-library-policies/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	8.00	00:03:23	0.00%	(0.00%)	\$0.00 (0.00%)
345.	/forestresources/forestry	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:24	0.00%	(0.00%)	\$0.00 (0.00%)
346.	/friendly.php?s=my_ncbi	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
347.	/fsn301/database-search-tips	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:08:08	0.00%	(0.00%)	\$0.00 (0.00%)
348.	/govdoc/Census/2005_business_census.htm	2 (0.01%)	50.00%	(0.01%)	50.00%	2.50	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
349.	/hed620/apa	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
350.	/hist/medieval	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:07:45	0.00%	(0.00%)	\$0.00 (0.00%)
351.	/hist/worldwarone	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
352.	/how-do-i-2/permalink/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:05:16	0.00%	(0.00%)	\$0.00 (0.00%)
353.	/humandevelopmentguide	2 (0.01%)	50.00%	(0.01%)	50.00%	1.50	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
354.	/icpsrguide	2 (0.01%)	100.00%	(0.03%)	0.00%	5.50	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)

355.	/lifehacklibrary/articles	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
356.	/mbstl_finding_new_customers	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:24	0.00%	(0.00%)	\$0.00 (0.00%)
357.	/mbstl_fish	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
358.	/mecheng/materials	2 (0.01%)	100.00%	(0.03%)	50.00%	2.00	00:00:18	0.00%	(0.00%)	\$0.00 (0.00%)
359.	/new-media	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
360.	/oa	2 (0.01%)	50.00%	1 (0.01%)	0.00%	6.00	00:03:20	0.00%	(0.00%)	\$0.00 (0.00%)
361.	/orono/worship	2 (0.01%)	100.00%	(0.03%)	50.00%	1.50	00:08:27	0.00%	(0.00%)	\$0.00 (0.00%)
362.	/patents/oronoptrc	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
363.	/prf.php?account_id=122160	2 (0.01%)	100.00%	(0.03%)	50.00%	1.50	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
364.	/prf.php?account_id=18267	2 (0.01%)	100.00%	(0.03%)	50.00%	4.50	00:07:21	0.00%	(0.00%)	\$0.00 (0.00%)
365.	/psychology/statistics	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
366.	/psychology/treatmentsthatwork	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:00:52	0.00%	(0.00%)	\$0.00 (0.00%)
367.	/referenceservices	2 (0.01%)	0.00%	0 (0.00%)	0.00%	11.00	00:41:43	0.00%	(0.00%)	\$0.00 (0.00%)
368.	/scifinder_database_guide/searchtips	2 (0.01%)	100.00%	(0.03%)	50.00%	6.00	00:07:00	0.00%	(0.00%)	\$0.00 (0.00%)
369.	/sms/databases	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
370.	/SpecColl/	2 (0.01%)	100.00%	(0.03%)	50.00%	1.50	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
371.	/speccoll/newspapers_location.htm	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
372.	/speccoll/special-collections-subject-guide2/	2 (0.01%)	100.00%	(0.03%)	0.00%	4.00	00:03:24	0.00%	(0.00%)	\$0.00 (0.00%)
373.	/speccoll/special-collections-subject-guides/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	3.50	00:12:20	0.00%	(0.00%)	\$0.00 (0.00%)
374.	/srch.php?q=america+first&guide_id=127723	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
375.	/staff/curtis.htm	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
376.	/staff/googleanalytics/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
377.	/standards	2 (0.01%)	100.00%	(0.03%)	0.00%	3.00	00:01:41	50.00%	1 (0.02%)	\$0.00 (0.00%)
378.	/swk	2 (0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:00:23	0.00%	(0.00%)	\$0.00 (0.00%)
379.	/swk320	2 (0.01%)	0.00%	0 (0.00%)	50.00%	90.00	05:41:11	0.00%	(0.00%)	\$0.00 (0.00%)
380.	/swk691	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:03:12	0.00%	(0.00%)	\$0.00 (0.00%)
381.	/technical-services-toc/cataloging-audio-books/	2 (0.01%)	100.00%	(0.03%)	0.00%	1.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
382.	/technical-services-toc/cataloging-creating-constant-data-f iles-connexion/	2 (0.01%)	100.00%	(0.03%)	50.00%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
383.	/technical-services-toc/cataloging-fly-items/	2 (0.01%)	100.00%	(0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
384.	/technical-services-toc/cataloging-lmc-graphic-novels/	2 (0.01%)	100.00%	(0.03%)	0.00%	1.50	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
385.	/technical-services-toc/cataloging-oclc-macros/	2 (0.01%)	100.00%	(0.03%)	0.00%	2.00	00:00:30	0.00%	(0.00%)	\$0.00 (0.00%)
386.	/technical-services-toc/cataloging-text-strings-connexion/	2 (0.01%)	100.00%	(0.03%)	50.00%	1.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
387.	/technical-services-toc/cataloging-umaine-theses/	2 (0.01%)	100.00%	(0.03%)	0.00%	1.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
388.	/technical-services-toc/known-issues/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:05	50.00%	1 (0.02%)	\$0.00 (0.00%)
		2		1					0	\$0.00

389.	/technical-services-toc/music-scores/	(0.01%)	50.00%	(0.01%)	0.00%	1.50	00:00:21	0.00%	(0.00%)	(0.00%)
390.	/technical-services-toc/rda-checklist/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.50	00:02:00	0.00%	(0.00%)	\$0.00 (0.00%)
391.	/technical-services-toc/setting-databases/	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
392.	/technical-services-toc/theses/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:12:50	0.00%	(0.00%)	\$0.00 (0.00%)
393.	/textbookalternativeprogram/otr	2 (0.01%)	100.00%	2 (0.03%)	50.00%	1.50	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)
394.	/troubleshooting/readcube	2 (0.01%)	100.00%	(0.03%)	50.00%	1.50	00:03:31	0.00%	(0.00%)	\$0.00 (0.00%)
395.	/tutorials	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
396.	/UMaineArchives/about	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
397.	/whats-new/	2 (0.01%)	0.00%	0 (0.00%)	0.00%	1.50	00:00:15	0.00%	(0.00%)	\$0.00 (0.00%)
398.	/wireless-access/	2 (0.01%)	50.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	(0.00%)	\$0.00 (0.00%)
399.	/?tok=527adb55&redir=https://landing.hotspotportals.co m/captive-portal/collection.php?accountnum=0000680 1&email=&email=&location=00006801&email=&voucher=T OMSRIVER	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
400.	/2015/08/09/1885/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:51	0.00%	(0.00%)	\$0.00 (0.00%)
401.	/2016/08/11/new-hot-topics-guide-hazing/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
402.	/2016/10/13/horror-fiction/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:20	0.00%	(0.00%)	\$0.00 (0.00%)
403.	/2016/11/08/introduction-r-data-analysis-visualization/	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
404.	/2017/01/22/fogler-library-faculty-newsletter-322/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:09	0.00%	(0.00%)	\$0.00 (0.00%)
405.	/2017/01/24/bringing-in-the-dogs/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
406.	/2017/02/22/fogler-library-faculty-newsletter-326/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:25	0.00%	(0.00%)	\$0.00 (0.00%)
407.	/2017/04/18/scholarly-communications-workshop-series/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:24:45	0.00%	(0.00%)	\$0.00 (0.00%)
408.	/2017/09/08/call-presenters-fogler-library-workshop-serie s/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
409.	/404.html?page=/?page_id=6500&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
410.	/404.html?page=/about/Default.htm&from=http://www.in gentaconnect.com/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
411.	/404.html?page=/about/floorplan2.htm&from=http://foglerlibrary.org/about/flooralphabet.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
412.	/404.html?page=/about/floorplan2.htm&from=http://foglerlibrary.org/about/floorplan3.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
413.	/404.html?page=/about/mission.htm&from=http://libguide s.library.umaine.edu/GovernmentDocuments	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
414.	/404.html?page=/canstudies/&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
415.	/404.html?page=/census/townsearch.asp?county=Oxfor d&town=Waterford&from=1790&to=2000&optype=ex&fro m=http://waterfordme.org/townclerk.php	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
416.	/404.html?page=/census/townsearch.asp?county=0xfor d&town=Waterford&from=1790&to=2000&optype=ex&fro m=http://www.waterfordme.org/townclerk.php	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
417.	/404.html?page=/cfru/pubs/CFRU300.pdf&from=http://w ww.google.com/url?sa=t&rct=j&q=&esrc=s&source=web&c d=4&ved=0ahUKEwjogt3K7qfWAhXI2SYKHeYaApsQFgg3 MAM&url=http://library.umaine.edu/cfru/pubs/CFRU300.p df&usg=AFQjCNHwNuhsYeAYXiT7D6mUfdBfB0TisQ	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
418.	/404.html?page=/cfru/search.asp&from=http://archive.cfr umembers.org/cfru/publications.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
419.	/404.html?page=/cfru/search.asp&from=http://libguides.li brary.umaine.edu/forestresources/forestry	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

420.	/404.html?page=/cfru/search.asp&from=http://usm.main e.edu/library/databases2?tid=95	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
421.	/404.html?page=/circ/location_business_office.htm&fro m=https://www.google.com/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
422.	/404.html?page=/class/JOHNSON/CHF200F13.htm&fro m=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
423.	/404.html?page=/colldev/about.htm&from=https://www.g oogle.com/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
424.	/404.html?page=/colldev/cdpolicy/dcpolicy.htm&from=htt p://digitalcommons.library.umaine.edu/2015.html	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
425.	/404.html?page=/colldev/newacq.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
426.	/404.html?page=/facultyservices.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:31	100.00%	1 (0.02%)	\$0.00 (0.00%)
427.	/404.html?page=/general/citations.html&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
428.	/404.html?page=/general/psycinfo.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
429.	/404.html?page=/govdoc/Census Population 1790 2000.p df&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:07:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
430.	/404.html?page=/ill/lending.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
431.	/404.html?page=/IRsurvey.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
432.	/404.html?page=/libqual/part_two.htm&from=https://www.google.com/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
433.	/404.html?page=/lmc/Default.htm&from=http://www.preventioncurriculum.com/resources/default.cfm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
434.	/404.html?page=/localhistory/Biographical_Review_Somer set.pdf&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
435.	/404.html?page=/MaineAES/TechnicalBulletin/tb142.pd f&from=http://www.sfstcp.com/TCPHome/Taxonomiclink sandresources/tabid/158/Default.aspx	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
436.	/404.html?page=/MaineAES/TechnicalBulletin/tb48.pdf&from=http://bugguide.net/node/view/550229	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
437.	/404.html?page=/MaineAES/TechnicalBulletin/tb73.pdf&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
438.	/404.html?page=/MaineAES/TechnicalBulletin/tb91.pdf&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
439.	/404.html?page=/mainepoliticalpapers/default.asp&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
440.	/404.html?page=/map/&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
441.	/404.html?page=/maps&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
442.	/404.html?page=/onesearch.htm&from=http://foglerlibrar y.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
443.	/404.html?page=/onesearch.htm&from=http://libguides.library.umaine.edu/ant250	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
444.	/404.html?page=/patents/default.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
445.	/404.html?page=/patrons/login.asp&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
446.	/404.html?page=/reference/Lewis/wsslinks/wommus.ht m&from=http://libguides.willamette.edu/c.php?g=57558 5&p=3969691	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
447.	/404.html?page=/refworksFogler.htm&from=http://www.refworks.com/refworks2/default.aspx?r=references MainLayout::init	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
448.	/404.html?page=/reserves/eReserves.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
449.	/404.html?page=/reserves/using_reserve.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
450.	/404.html?page=/resources.htm&from=http://newlibrary.li brary.umaine.edu/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)

451.	/404.html?page=/science/aquatic.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
452.	/404.html?page=/science/compsci.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
453.	/404.html?page=/science/compsci.htm&from=http://www.accionpreferente.com/educacion/lista-de-lugares-donde-puedes-educarte-online-y-gratis-y-en-las-mejores-universidades/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
454.	/404.html?page=/science/engtech.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
455.	/404.html?page=/science/entomology.htm&from=http://www.colby.edu/MES/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
456.	/404.html?page=/science/environ.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
457.	/404.html?page=/science/forestry.htm&from=http://libguides.lib.umt.edu/forest_management	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
458.	/404.html?page=/science/math.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
459.	/404.html?page=/science/scifinder.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
460.	/404.html?page=/social/education_curriculum.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
461.	/404.html?page=/social/Lexispolicy.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
462.	/404.html?page=/social/screencasts/articlelinker/articlelinker.htm&from=http://libguides.library.umaine.edu/cinahldatabaseguide/fulltext	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
463.	/404.html?page=/social/womengd.htm&from=https://www.google.com.eg/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:05:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
464.	/404.html?page=/social/womengd.htm&from=https://www.google.com/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
465.	/404.html?page=/social/womengd.htm&from=https://www.google.com/url?sa=t&rct=j&q=&esrc=s&source=web&cd=4&cad=rja&uact=8&ved=0ahUKEwjXlpj61cDWAhWG-VQKHUKMBUoQFgg8MAM&url=https://umaine.edu/womensgenderandsexualitystudies/womens-studies/&usg=AFQjCNgz7Ay5Dd7TbFeQU8CBq_bYG1VFLg	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
466.	/404.html?page=/speccoll/default.htm&from=http://libguides.library.umaine.edu/GovernmentDocuments	1 (0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:16:14	0.00%	(0.00%)	\$0.00 (0.00%)
467.	/404.html?page=/speccoll/eadsearch/&from=http://libraries.maine.edu/mariner/special_collections.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
468.	/404.html?page=/SpecColl/FindingAids/Hamlinfamilyinve ntory.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	(0.00%)	\$0.00 (0.00%)
469.	/404.html?page=/speccoll/FindingAids/Haystack.htm&fro m=https://en.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
470.	/404.html?page=/speccoll/FindingAids/Kingstep.htm&fro m=http://bizzy-king.blogspot.jp/p/link.html	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
471.	/404.html?page=/speccoll/FindingAids/Kingstep.htm&from=https://en.m.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
472.	/404.html?page=/speccoll/FindingAids/Kingstep.htm&fro m=https://en.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
473.	/404.html?page=/speccoll/FindingAids/Kingstep1.htm&fro m=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
474.	/404.html?page=/speccoll/FindingAids/Sprinchorn.htm&from=https://en.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
475.	/404.html?page=/speccoll/FindingAids/WilliamsonFamil y.htm&from=https://en.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
476.	/404.html?page=/speccoll/fisheries/&from=http://dal.ca.li bguides.com/marine_biology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
477.	/404.html?page=/speccoll/fisheries/&from=http://www.pe nobscotmarinemuseum.org/pbho-1/fisheries/websites	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
478.	/404.html?page=/speccoll/Guides/francoamerican.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
479.	/404.html?page=/speccoll/newspapers.htm&from=http://freepages.genealogy.rootsweb.ancestry.com/~edgecomb/index2.html	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
480.	/404.html?page=/staff/bonnet.htm&from=http://libguide	1	0.00%	0	0.00%	2.00	00:00:02	0.00%	0	\$0.00

	s.library.umaine.edu/ant553	(0.00%)		(0.00%)					(0.00%)	(0.00%)
481.	/404.html?page=/staff/liu.htm&from=http://foglerlibrary.org/colldev/contacts.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
482.	/404.html?page=/staffinfo/&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
483.	/404.html?page=/staffinfo/ppc/members.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
484.	/404.html?page=/studentemployment&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:23:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
485.	/404.html?page=/studentemply&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
486.	/404.html?page=/townreport/&from=http://maine.gov/ms l/maine/govpub/index.shtml	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
487.	/404.html?page=/townreport/&from=http://usm.maine.lib guides.com/policy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
488.	/404.html?page=/townreport/&from=http://www.gardinermaine.com/Public_Documents/FV1-0000F8A6/S031C9271-05AC724A	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
489.	/404.html?page=/townreport/&from=http://www.maine.go v/msl/maine/meorigin.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
490.	/404.html?page=/townreport/&from=http://www.maine.go v/msl/maine/writdisplay.shtml?id=95004	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
491.	/404.html?page=/townreport/&from=http://www.maine.go v/tools/whatsnew/index.php	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
492.	/404.html?page=/townreport/&from=http://www.penobsc ot-maine.com/HancockCountyCemeteryIndex.html	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
493.	/404.html?page=/townreport/&from=http://www.state.m e.us/msl/services/genealogy/index.shtml	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
494.	/404.html?page=/townreport/holdings.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
495.	/404.html?page=/townreport/holdings.htm&from=http://pejepscothistorical.org/local-history/brunswick-history	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
496.	/404.html?page=/townreport/holdings.htm&from=http://www.curtislibrary.com/brunswick-history/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
497.	/404.html?page=/townreport&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
498.	/404.html?page=/townreport&from=https://blog.eogn.com/2014/06/21/maine-town-reports-digital-project/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
499.	/404.html?page=/townreports/gardiner/gardiner_1858.pd f&from=http://googleweblight.com/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
500.	/404.html?page=/virtualref/citations.htm&from=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
501.	/404.html?page=/wabanaki/Eastport_and_Passamaquodd y.pdf&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
502.	/404.html?page=/wabanaki/Letters_of_Colonel.pdf&from=https://en.wikipedia.org/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
503.	/404.html?page=/wabanaki/the_red-paint_people.pdf&from=http://www.alamoosooklakeassociation.com/Alamoosook_Page/History_encorehtml	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
504.	/404.html?page=/yearbooks/&from=http://foglerlibrary.or g/highlights/publications/yearbooksinfo.pdf	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
505.	/404.html?page=/yearbooks/&from=http://www.earlymain e.org/em_php/yearbookIndex/searchIndex.php	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
506.	/404.html?page=/yearbooks/content/1918/1918_31to60.p df&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
507.	/404.html?page=/yearbooks/content/1948/1948_211to24 0.pdf&from=http://www.google.com/url?sa=t&rct=j&q=&e src=s&source=web&cd=6&ved=0ahUKEwjxylebhbnWAhUr 1oMKHav9DlcQFgg5MAU&url=http://www.library.umain e.edu/yearbooks/content/1948/1948_211to240.pdf&us g=AFQjCNFTGeSq39uSoxDJAFJj_gpq_JX-lg	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
508.	/404.html?page=/yearbooks/content/1951/1951_61to90.p df&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
509.	/404.html?page=/yearbooks/content/1960/1960_211to24 0.pdf&from=http://www.earlymaine.org/em_php/yearbook Index/searchIndex.php	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)

510.	/404.html?page=/yearbooks/content/1991/1991_61to90.p df&from=https://en.wikipedia.org/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
511.	/404.html?page=/yearbooks/content/1992/1992_121to15 0.pdf&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
512.	/404.html?page=/yearbooks/Eighties.htm&from=htt p://m.facebook.com	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
513.	/404.html?page=/yearbooks/Nineties.htm&from=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
514.	/about/flooralphabet.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
515.	/about/fogler-library-magazine/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:17:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
516.	/about/mission-statement/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:05	0.00%	(0.00%)	\$0.00 (0.00%)
517.	/agri/databases	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
518.	/altmetrics	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
519.	/animalvetsci/dictionaries_encyclopedias	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
520.	/ant	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	(0.00%)	\$0.00 (0.00%)
521.	/ant/antgen	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:09:09	0.00%	(0.00%)	\$0.00 (0.00%)
522.	/ant553	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
523.	/arch	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:21:24	0.00%	(0.00%)	\$0.00 (0.00%)
524.	/architect/images	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
525.	/arts/books	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
526.	/arts/umaine	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	(0.00%)	\$0.00 (0.00%)
527.	/bio525/scientific-literature	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
528.	/biologyecology/encyclopedias	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
529.	/biomed/zebrafish	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
530.	/biomedical	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
531.	/bookclub/dystopian	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
532.	/bua220/introduction	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
533.	/bua651	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
534.	/business-databases/overview	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
535.	/c.php?g=103753&p=700645	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
536.	/c.php?g=106350&p=831232	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
537.	/c.php?g=109518	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
538.	/c.php?g=118010&p=1619451	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
539.	/c.php?g=119325&p=3661836	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
540.	/c.php?g=124750&p=816152	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	01:15:46	0.00%	(0.00%)	\$0.00 (0.00%)
541.	/c.php?g=126238&p=5203667&preview=91667a229147d9 cc599350facc4431ca	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:13:38	0.00%	(0.00%)	\$0.00 (0.00%)
542.	/c.php?g=135708&p=889670	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
543.	/c.php?g=137204&p=897007&preview=9754ae0c2bb1095 837d5f861e42f4a4a	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

544.	/c.php?g=149686&p=1007278	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)
545.	/c.php?g=150206	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
546.	/c.php?g=154925&p=3336742	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
547.	/c.php?g=161109&p=3960847	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
548.	/c.php?g=201152&p=3231116	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:15	0.00%	(0.00%)	\$0.00 (0.00%)
549.	/c.php?g=376745&p=2549516	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
550.	/c.php?g=376745&p=2552427	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:58	0.00%	(0.00%)	\$0.00 (0.00%)
551.	/c.php?g=390392&p=2651235&preview=db849d6419b257 6f3f8549bdd84f939b	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
552.	/c.php?g=496812&p=3399714	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
553.	/c.php?g=544083&p=3729072	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:49	0.00%	(0.00%)	\$0.00 (0.00%)
554.	/c.php?g=551559&p=3786897	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
555.	/c.php?g=559261&p=3846466	1 (0.00%)	100.00%	(0.01%)	0.00%	4.00	00:33:13	0.00%	(0.00%)	\$0.00 (0.00%)
556.	/c.php?g=559261&p=3848196	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
557.	/c.php?g=566759&p=3903550	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
558.	/c.php?g=574692&p=4788998	1 (0.00%)	0.00%	(0.00%)	0.00%	9.00	00:24:01	0.00%	(0.00%)	\$0.00 (0.00%)
559.	/c.php?g=574692&p=5210650&preview=f4b95e7e5dbff32 fcb111808e214ade6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:21:09	0.00%	(0.00%)	\$0.00 (0.00%)
560.	/c.php?g=685182&p=4841702	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
561.	/c.php?g=711544&p=5062843&preview=829bff3abd16040 8f13a62cb9d2cd75b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:08	0.00%	(0.00%)	\$0.00 (0.00%)
562.	/c.php?g=723357&p=5160574	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
563.	/c.php?g=726603&p=5186914	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
564.	/c.php?g=726603&p=5186915	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:54	0.00%	(0.00%)	\$0.00 (0.00%)
565.	/c.php?g=77587&p=2603418	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	(0.00%)	\$0.00 (0.00%)
566.	/c.php?g=77587&p=898769	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
567.	/c.php?g=92134&p=608125	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
568.	/c.php?g=92171&p=608846	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
569.	/c.php?g=94685	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
570.	/c.php?g=98455&p=637503	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:01:08	0.00%	(0.00%)	\$0.00 (0.00%)
571.	/c.php?g=98455&p=637519	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:02	0.00%	(0.00%)	\$0.00 (0.00%)
572.	/canadian-studies/canadian-newspapers/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
573.	/canadian-studies/new-canadian-books/	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
574.	/cataloging-queuing-spine-labels-printing/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
575.	/chemeng	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
576.	/chf200-caron	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
577.	/chf303/tutorials	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)

578.	/chf404a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:46	0.00%	(0.00%)	\$0.00 (0.00%)
579.	/chf404b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
580.	/chy105	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
581.	/chy105/database-search-tips	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
582.	/chy105/database-search-tips?preview=1768f1923f20f12 91dfca2c47e116eb3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:29:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
583.	/chy298/database-search-tips?preview=83d05a361f8daab bfa17e8f1e8ce7279	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
584.	/citation_analysis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
585.	/citation_analysis/article	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
586.	/citation_analysis/author	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
587.	/cmj	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
588.	/cmj-journalism	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
589.	/cmj-journalism/articles	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
590.	/CMJ103	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
591.	/cohen/about_collection.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
592.	/cohen/Collection_Description/106_02_03_03_03.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:44:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
593.	/cohen/Collection_Description/106_03_03_05_06.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
594.	/cohen/Collection_Description/106_03_03_17.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
595.	/cohen/Collection_Description/106_05.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
596.	/cohen/outline.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
597.	/colldev/contacts.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
598.	/colldev/recommend.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
599.	/collection-services/collection-development-policy/gift-policy/	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
600.	/collection-services/collection-development-policy/mrc-col lection-policy/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
601.	/collection-services/database-trials/	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
602.	/compsci	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
603.	/comscidis/dict-encycl	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
604.	/comscidis/home	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
605.	/confposters/presentations	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
606.	/copyright	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
607.	/DCself_archive/new-selectedworks	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	0.00%	(0.00%)	\$0.00 (0.00%)
608.	/DCself_archive/workflow	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:07:26	0.00%	(0.00%)	\$0.00 (0.00%)
609.	/default_res.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
610.	/DMC/libraryhistory.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
611.	/EDT537	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

612.	/Educationguide	1 (0.00%)	0.00%	(0.00%)	0.00%	2.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
613.	/Educationguide/caldecott	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
614.	/educationguide/curriculum	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:40	0.00%	(0.00%)	\$0.00 (0.00%)
615.	/Educationguide/databases	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
616.	/Educationguide/statistics	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
617.	/ejournals/_ejournals.asp?Biology=	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
618.	/eng/citation	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
619.	/environmentalscience	1 (0.00%)	100.00%	(0.01%)	0.00%	3.00	00:01:41	0.00%	(0.00%)	\$0.00 (0.00%)
620.	/etech/met?preview=8be8cab8fa0f8e1f698a438683e7a3a 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:52	0.00%	(0.00%)	\$0.00 (0.00%)
621.	/event/framework-assessing-information-literacy-across-disciplines/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:05:01	0.00%	(0.00%)	\$0.00 (0.00%)
622.	/event/grants-101-seeking-analyzing-writing-basics/2018- 01-18/	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
623.	/event/grants-101-seeking-analyzing-writing-basics/2018- 03-13/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
624.	/event/illiad-server-upgradeouttage/?sid=FirstSearch:Worl dCat&genre=book&isbn=9782894062777&title=Dée.&dat e=2007&aulast=Delisle&aufirst=Michael&id=doi:&pid=6704 41337 <fssessid>0</fssessid> &url_ver=Z39.88-2004𝔯_i d=info:sid/firstsearch.oclo.org:WorldCat&rft_val_fmt=inf o:ofi/fmt:kev:mtx:book&rft_genre=book&req_dat= <sessioni d="">0&rfe_dat=<accessionnumber>67044133 7</accessionnumber>&rft_id=urn:ISBN:9782894062777&rf t_aulast=Delisle&rft_aufirst=Michael&rft_btitle=Dée.&rft_da te=2007&rft_isbn=9782894062777&rft_place=Montreal&rft_pub=Bibliothèque québécoise</sessioni>	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
625.	/event/illiad-server-upgradeouttage/?sid=FirstSearch:Worl dCat&genre=journal&issn=0892-3434&title=Island journal: the annual publication of the Island Institute.&date=1984&id=doi:&pid=11667537 <fssessid>0</fssessid> &url_ver=Z3 9.88-2004𝔯_id=info:sid/firstsearch.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:journal&rft_genre=journal&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>11667537</accessionnumber> &rft_id=urn:ISSN:089 2-3434&rft_jtitle=Island journal: the annual publication of the Island Institute.&rft_issn=0892-3434&rft_aucorp=Island Institute (Rockland, Me.)&rft_place=Rockland Me.&rft_pub=The Institute	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
626.	/event/illiad-server-upgradeouttage/?sid=FirstSearch:Worl dCat&title=Mycology in a box: didactic course.&date=200 4&id=doi:&pid=658006669 <fssessid>0</fssessid> &url_ve r=Z39.88-2004&rf_id=info:sid/firstsearch.oclc.org:WorldC at&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft_genre=unkno wn&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessio nnumber="">658006669&rft_id=info:ocl cnum/658006669&rft_title=Mycology in a box: didactic co urse.&rft_date=2004&rft_aucorp=Instructional Design Con sultants, Inc.&rft_place=Littleton, Colo.:&rft_pub=Instructio nal Design Consultants, Inc.,</accessio>	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
627.	/event/library-book-club-poetry/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:38	0.00%	(0.00%)	\$0.00 (0.00%)
628.	/event/therapy-dog-visits-2/2017-09-07/	1 (0.00%)	0.00%	(0.00%)	0.00%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
629.	/event/therapy-dog-visits/2017-05-08/	1 (0.00%)	100.00%	(0.01%)	0.00%	2.00	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
630.	/event/workshop-introduction-microsoft-excel/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
631.	/facultyservices/facultyservices	1 (0.00%)	0.00%	(0.00%)	0.00%	1.00	00:00:07	0.00%	(0.00%)	\$0.00 (0.00%)
632.	/fakenews	1 (0.00%)	0.00%	(0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
633.	/food-drink-policy/	1 (0.00%)	0.00%	(0.00%)	0.00%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
634.	/forestresources/parksrectourism	1 (0.00%)	0.00%	(0.00%)	0.00%	4.00	00:01:17	0.00%	(0.00%)	\$0.00 (0.00%)
		1		1					0	\$0.00

635.	/friendly.php?s=ant	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	(0.00%)
636.	/friendly.php?s=patents/patentsearch	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
637.	/friendly.php?s=scifinder_database_guide&p=565868	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
638.	/fsn101/home	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
639.	/fsn101/library-floor-3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
640.	/fsn425/references?preview=61f19519959f4d0654c4b7e3 e2f510b7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
641.	/fsn510	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
642.	/geo	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
643.	/geo/databases	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
644.	/geoscan/gislinks.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
645.	/govdoc/Census/1954_business_census.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
646.	/govdoc/Census/1960_housing_census.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
647.	/govdoc/Census/1975_business_census.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
648.	/guncontrol	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
649.	/history	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
650.	/how-do-i-2/blackboard-support/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
651.	/how-do-i-2/terms-of-use/	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
652.	/how-do-i-2/ursus-linking-2/	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
653.	/humandevelopmentguide/apa	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
654.	/humandevelopmentguide/handbooks	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
655.	/immigration/data	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
656.	/indexesdb/_Indexes.asp?search=A⦥=HN	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
657.	/internationalaffairsguide/usforeign_policy	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
658.	/jstor-dda-triggered-titles/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
659.	/kpe	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
660.	/kpe385	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
661.	/kpe385/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
662.	/LAC/lac_devfund_home.htm	1 (0.00%)	0.00%	(0.00%)	0.00%	5.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
663.	/lifehacklibrary/glossary	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
664.	/lifehacklibrary/scholarly	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:03:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
665.	/mainestudies	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
666.	/math	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
667.	/mbstl_new_product_development	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
668.	/mbstl_registration	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
669.	/mbstl_sales_marketing	1	100.00%	1	100.00%	1.00	00:00:00	0.00%	0	\$0.00

		(0.00%)		(0.01%)					(0.00%)	(0.00%)
670.	/mbstl_science_technology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
671.	/mbstl_specialty_food	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
672.	/mbstl_start_a_business_overview	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
673.	/mbstl_support	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
674.	/mbstl_working_with_suppliers	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
675.	/mbstl_writing_business_plans	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
676.	/minsky-video-collection/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
677.	/music	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
678.	/nur/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
679.	/nur/handbooks	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
680.	/nur/home	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:23:23	0.00%	(0.00%)	\$0.00 (0.00%)
681.	/orono/events	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
682.	/orono/food	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
683.	/peacestudies	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
684.	/politicalscience	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
685.	/prf.php?account_id=147000	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
686.	/prf.php?account_id=19262	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:37	0.00%	(0.00%)	\$0.00 (0.00%)
687.	/prf.php?account_id=22119	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:33	0.00%	(0.00%)	\$0.00 (0.00%)
688.	/prf.php?account_id=26511	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:42	0.00%	(0.00%)	\$0.00 (0.00%)
689.	/prf.php?account_id=82750	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
690.	/psy491-ell/apa	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
691.	/psychology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:39	0.00%	(0.00%)	\$0.00 (0.00%)
692.	/psychology/booksandarticles	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
693.	/psychology/newbooks	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
694.	/referenceservices/staff	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	(0.00%)	\$0.00 (0.00%)
695.	/reserves/location.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
696.	/saturn-at-opposition	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
697.	/search/?q=ancestry	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
698.	/search/?q=bookstore	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
699.	/search/?q=crude+oil+upstream	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:29	0.00%	(0.00%)	\$0.00 (0.00%)
700.	/search/?q=Ereserve	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
701.	/search/?q=google+scholar	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
702.	/search/?q=hannibal+hamlin+papers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:37:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
703.	/search/?q=it+help+desk	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

704.	/search/?q=libX	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
705.	/search/?q=The+Ecological+Relations+of+the+Vegetatio n+on+the+Sand+Dunes+of+Lake+Michigan+Henry+Chandl er+Cowles	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
706.	/search/?q=web+of+science	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
707.	/site-map/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
708.	/sms	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
709.	/speccoll/special-collections-fee-schedule/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
710.	/speccoll/special-collections-subject-guide-genealogy/?fre f=gc&dti=448634315491	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
711.	/srch.php	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
712.	/srch.php?q=acidification+damages+respiratory+surface s&guide_id=487203	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:04:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
713.	/srch.php?q=Great+white+sharks&guide_id=558095	1 (0.00%)	0.00%	(0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
714.	/srch.php?q=nature&guide_id=121394	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:39	0.00%	(0.00%)	\$0.00 (0.00%)
715.	/srch.php?q=peer+review+journal+article&guide_id=10815 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
716.	/srch.php?q=pregnancy+and+prenatal+&guide_id=211801	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
717.	/srch.php?q=why+socialism&guide_id=108150	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
718.	/staff/beauregard.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
719.	/staff/butterfield.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
720.	/staff/daigle.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
721.	/staff/fitzgerald.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
722.	/staff/googleanalytics/2017.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	(0.00%)	\$0.00 (0.00%)
723.	/staff/libx_guide.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
724.	/staffinfo/default.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:34	0.00%	(0.00%)	\$0.00 (0.00%)
725.	/staffinfo/librarycommittees.html	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	(0.00%)	\$0.00 (0.00%)
726.	/standards/faq	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
727.	/studentemploy/?gf_token=35fc790ea19e4cce99d08eace 8c9abcf	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:02	0.00%	(0.00%)	\$0.00 (0.00%)
728.	/studentemploy/?gf_token=b260c86c1b3e48f486227fc02 d58b319	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:38:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
729.	/studentemploy/?gf_token=cde77e13d8144a46994bb81e 45e08dfe	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
730.	/studentemploy/?gf_token=d27344895a8b47b3b9453d03 7be465c0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
731.	/taxinfo	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
732.	/technical-services-toc/bookdrive-editor/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:26	0.00%	(0.00%)	\$0.00 (0.00%)
733.	/technical-services-toc/cataloging-batch-delete-holdings-o clc/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
734.	/technical-services-toc/cataloging-copy-cataloging-oclc-re view-step/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	1.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
735.	/technical-services-toc/cataloging-flags-table/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
736.	/technical-services-toc/cataloging-monographs-beyond-re pair/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)

740.	/technical-services-toc/digitization-digital-commons/cann ed-search/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:06	0.00%	(0.00%)	\$0.00 (0.00%)
741.	/technical-services-toc/digitization-digital-commons/kend all-collection2/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
742.	/technical-services-toc/erefbook-title-level/	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
743.	/technical-services-toc/erm-batch-updates-serials-solution s-knowledge-base-collections/	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:25	0.00%	(0.00%)	\$0.00 (0.00%)
744.	/technical-services-toc/hosted-eresources/	1 (0.00%)	100.00%	(0.01%)	0.00%	5.00	00:14:34	0.00%	(0.00%)	\$0.00 (0.00%)
745.	/technical-services-toc/marc-settings-sersol/	1 (0.00%)	100.00%	1 (0.01%)	0.00%	1.00	00:02:08	0.00%	(0.00%)	\$0.00 (0.00%)
746.	/technical-services-toc/monitoring-periodicals/	1 (0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:04	0.00%	(0.00%)	\$0.00 (0.00%)
747.	/technical-services-toc/new-title-change/	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
748.	/technical-services-toc/onlineonly/	1 (0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
749.	/technical-services-toc/process-newly-bound/	(0.00%)	0.00%	(0.00%)	0.00%	1.00	00:00:03	0.00%	(0.00%)	\$0.00 (0.00%)
750.	/technical-services-toc/unselectable-collections/	(0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:24	0.00%	(0.00%)	\$0.00 (0.00%)
751.	/technical-services-toc/url-checker/	(0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:16	0.00%	(0.00%)	\$0.00 (0.00%)
752.	/tune.dic?siteUrl=https://library.umaine.edu/	(0.00%)	100.00%	(0.01%)	0.00%	1.00	00:00:11	0.00%	(0.00%)	\$0.00 (0.00%)
753.	/umaine-dance/videos	(0.00%)	100.00%	(0.01%)	100.00%	1.00	00:00:00	0.00%	(0.00%)	\$0.00 (0.00%)
754.	/UMaineArchives/usingarchive	(0.00%)	100.00%	(0.01%)	0.00%	2.00	00:00:13	0.00%	(0.00%)	\$0.00 (0.00%)
755.	/venue/reserve-reading-room/	(0.00%)	0.00%	(0.00%)	0.00%	1.00	00:00:01	0.00%	(0.00%)	\$0.00 (0.00%)
756.	/web-contributors-guidelines/	(0.00%)	0.00%	(0.00%)	0.00%	2.00	00:00:36	0.00%	(0.00%)	\$0.00 (0.00%)

1 (0.00%)

1 (0.00%)

(0.00%)

100.00%

100.00%

0.00%

1 (0.01%)

1 (0.01%)

(0.00%)

100.00%

0.00%

0.00%

1.00

1.00

5.00

00:00:00

00:00:22

00:04:49

0.00%

0.00%

0.00%

737. /technical-services-toc/cataloging-theses-digital-common s/

738. /technical-services-toc/claim-checker-report/

739. /technical-services-toc/closing-serial-titles/

757. /web-contributors-guidelines/wordpress-basics/

759. /wp-activate.php?key=b7f911de894f6a7c

758. /wgsstudies/LGBT

0 (0.00%)

0 (0.00%)

0 (0.00%) \$0.00 (0.00%)

\$0.00 (0.00%)

\$0.00 (0.00%)

(0.00%)

0 (0.00%)

(0.00%)

\$0.00 (0.00%)

\$0.00 (0.00%)

\$0.00 (0.00%)

1 (0.00%)

1 (0.00%)

1 (0.00%)

0 (0.00%)

1 (0.01%)

(0.00%)

100.00%

0.00%

0.00%

1.00

3.00

4.00

00:00:00

00:00:14

00:04:53

0.00%

0.00%

0.00%

0.00%

100.00%

0.00%